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Trade Barriers & Currency Exchange Summarizer
Fill in the missing words using the word bank below. .

SS6E8 Analyze the benefits of and barriers to voluntary trade in Europe.
b. Compare and contrast different types of trade barriers such as tariffs, quotas, and embargoes.

Trade is a veluntary exchange of goods and/or services among people and countries. When both
parties are willing to trade everyoné involved has a chance to benefit. Countries often put fimits on
trading to keep its citizens happy. These limits are called trade barriers. We have talked about

2 specific economic trade barriers this year. A Yo E is a tax on {goeds
purchased from other countries). A quota is a L oran - or restriction placed on the number

of imports that may enter-a country. An _€vrv\oexa <y Is when a government stops trade between
ene country and another. This is usually done because the two countries are not agreeing about
political matters.

SSHER- ﬂmiyze the benefits of amd-barriers to voluntary trade in Europe.
¢. Explain why international trade requires a system-for exchanging currencies between nations.

Cawrrenty is the money peeple-useto make trade easier. In the United States, we use U.S.
dollars, but in th% European Union most of the member countries use-the _ & waryy . The United
Kingdom is the exception, they still use the-British roLvitCa A as'their currency.

When traveling to other countries, ofterrtimes people must exchange the currency of their home
natian with that of the country fhey are visiting. However, when we exchange the money, the
Qg&\&ﬂ charges a fee. ExchangeTates are used to determine how much one nation’s currency is
worth in terms of another’s. (e.g., 1.00 U.S. dollar = 0.96 Euros) A business that does a lot of trade with
other countries will end up paying large fees. To make trade easier inthe E';U‘!ﬂigfcur\ Llvicen,
the EU's member countries voted to use one common _ ¢ i v ¥ €. . This helps make
trade less @\D €visw €__so people are more likely to want totth business with other countries.

bank tariff embargo pound Eurcpean Union
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SS6EZ Analyze the benefits of and barriers to voluntary trade in Europe.

d. Describe the purpose of the European Union and the relationship between member nations.

European Union

The purpose of the EU is for its Me W‘\\MY’?’:' to work together for gQ,d Uawn '\f@ao}‘c,fg that
wauld be out of their reach if each were working alone. The EU is a strong beliaver that when countries work together
they are a more powerful force in the world because they involve: more , mare

, and more : areas. This helps make small countries more

i A L L in the warld market. The EU helps to level the playing field for smzll and iarge countries
because when they work together as a team, they are a bigger competitorin the world market.

WMembers may use a common currency [ & 4AvD _) that makes frade. & ¢.5%ve+" The EU warks to improve
trade, ,‘-':"(l\.LC PR ST , farming, and industry among its members. The euro is the currency of MOST EU

cocuntries. Member countries can choose te give up their own currency and ___ & v ¢ \r\ghmc\ﬁa_, them for euros. A
commaon currency makes trade between the countries much easier and less & y.\%') s e . Currently, there

are 12 countries in the European Union that have chosen to not use the eura. For example, the
U\‘!\\M \{;—‘V“O\& T has decided to continte to use the British 0 & u ;o)
LA - T

b

There are seve rg_l ‘Furopean countries that are not members ofthe EU, including v }_e‘ A , Switzerlard,
Iceland, and WNERS | e J

Brexit

%{Q&kxﬂ’ is a word that has become used as a shorthand way to refer to the United Kingdom’s decision
to leave the = m?&m AL ey . Injune of 2016, the ¢itizens of the United Kingdom helda special
election, called a v&-&rﬁhéh\,w\ , to vate on whether or not the United Kingdom should stay a part of the EU.
The leader of the government, g}rgmé‘, WA N Ve David Cameron, did not expect the people to actually

vote to leave the EU. He felt that it would be a bad decision for the United Kingdom and was surprised at the results of
the etection. Prime Minister Cameron felt that he could not support this decision and so he resigned or gave up his
position as leader of the Parliament. Teresa May was chosen as the new -p'{‘a M, YManes ey and told the
people that shé would support the decision to exit the EU. In March 2017, Prime Minister May officially began the 2 year
long process to remove the United Kingdom from the European Union.

Members Brexit Furopean Union Prime Minister (2x)
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S56E% Describe factors that influence economic growth and examine their presence or absence in the United
Kingdom, Germany, and Russia.

4

In economics, there are four factors that influence a country’s growth: ’{}Quh' A ﬁ:\ TE30a/Ca g, capital
goods, _ Jau aen Coaitel . and the rofe of _€rir egicinuey”
[] g

Human capital is when a country invests in the (‘_’d wWeaon and training of its workers in order to
produce goods and services. Countries choose to invest in human capital as a way to raise the GDP. A higher
GDP means a higher standard of living for the people in the country. Russia, __Goerv- a'\-"aa:.-"‘\\:i , and the
United Kingdom have made large investments in human capital, The workforce in the three countries is very
well trained and educated. Currently, Russia is currently spending a lot of s e to train workers and
educate the youth following their transition from communist _Sodizd lirie~ tca

country.

Capital goods are the factories, Mo hanes , technaologies, buildings, and eai,,u‘:.ﬁ et
needed by businesses to operate. If a business is to be successful, it cannot let its Arepe /“{—:j
break down or have its buildings fail apart. This goes along with the idea that “you have te spend

Feed A f_j to make money.” Germany and the L;Ln.“{-fca k? .r:_gcjww have spent quite a
bit of money aver the years investing in capital goods, but Pusgio— is having to catch up. While a
communist country, the Soviet Union did not make a lot of investments in it Com? . s

and so much of the country is in need of repair now. The government has said they plan to invest around 51
trillion over the next few years to bring everything up with the rest of Europe.

i ‘_* .
ﬂ)a‘f“ud’d‘»fj pﬁéfﬁﬂza.fff’b .also known as “gifts of nature” are the resources that= country has

within its horders that can help a country be successful. Most countries use their natura! resources to take
care of the g erds ofits.people, but some couniries have enough resources to fvoMg--ffﬁ- with
other countries. If a country hasto 1 w0« ¥ naturalresources that they need, it-2dds to the cost of the

goods and services they are producing. Examples of natural resources include water, q(\a e s ,
fertile soil, coal, i\ and natural gas. Many of the countries in Europe have used up much of their
nonrenewable resources and are having to find other ways to make their economies work.

An fﬂ'\’fc,'@f ViR . is a person who provides the money to start and own a business.
These people risk their own A weed and time because they believe their idea will be successful and
make a 0(‘{3@\% LAn e'ntrepre%eur brings together _nipseas, oy b [, capital goods,

T,
and g\airu_w.-{ ¥ €Lows €S to produce goods or services provided by their business. An
entrepreneur plays a vital role in the economy because zs their business grows, they hire more workers, giving

more people jobs.

machines education natural resources {3) trage import oil
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Summarizer for Measurements of Economic Growth

SS6E9 Describe factors that influence economic growth and examine their presence or
absence in the United Kingdom, Germany, and Russia.

a, Evaluate how literacy rates affect standard of living.
b. Explain the relationship between investment in human capital and GDP/per capita GDP.
* ¢. Explain the relationship between investment in capital resources and GDP/per capita

GDP.

1. When a country invests in its human capital and capital goods (AKA capital

[N CCS ) its citizens often have a high < %mwdovd of [ivi ¢
This allows them to obtain better {cins , €arT MOTEe  PAGAS S afford
to send their children to Sciec{ , and to have enough food to éat while residing in
a safe, comfortable home.

2. There are several ways to measure standard of living. One, {ile o 4 ¢ co e,
is the percentage of people, age 15 and above, who can read. The ability to read at an

. "V avadeevel or higher, increases the person’s chances at getting a job.

As a ax-paymg cifizen they are contributing to the country’s wealth via taxes and the
spending of their salary. Russia, Germany, andthe  CAnited {icador~ have

high ]iteracy rates. =

3. Another way to measure economic growth is to leok at a couniry’s gross domestic

product (AKA DY ). This statistieis the total value of goods and
Seviices produced by a country in a given year.

4. Russia’s GDP is lower than the UK’s and Germany’s because the former
Sodiet LA glid not invest in its capital goods (modem factories,
updated machinery...) Russia is playing catch up on that front.

5. GDP is only part of the p1cture A country like China makes tons of money in a
year, but how many people are in China working for and sharing that money? That’s
why \{}ey’ (mmm O gives a clearer, easier to understand picture of a
country’s standard of living. Per capita means per person. To Colewdele.  the per
capita GDP of a country you divide the GDP by the number of o lg in the
country. This gives one a better picture of a country’s standard &f living,

calculate GDP neople standard of living
oviet Union jobs ,] resources per capita GDP

‘teracy rate money school United Kingdom

- eighth-grade services




